U0 0;* U8 v .WO J%.Qbm. WJN‘ St u._ oS n"j
LTH o3 pup 4An au3 sasvd yde6 oy _

9N

nl

Ol

oé..-\

Ot

— J—- .

.<_Q.+vs:w I\\ ......

chx ‘89 ‘54

.WCQ~$v&J&‘ wh,.NDC_ ‘V,:V G st 4 FdlL
% = gfo1to1-xg) =(AXeN)b = (9 (5o6) puo
X = Xy = (V)= (9(Ee3) o

T Ao_\Axvm\AwaKV u_nxvm “o1-x¢ 2 ..._.OCw Om# “l9 ‘.mn_

\-Q_l

(x)3 = (x),.6 Pus  (x)6 =(x) -5 °S

-
—

L

(:%-6)-6) =(X-6)E =(695)6 = (X)(3°6) pur
(2676 = (60 5 = ((96) 3 = (I(Eo3) ‘Mon
x-6) =(9F “(0%x) .x-6 =03 22k 29 B

65 MH 12 Yiew



X~

(R-1)A = xg-¢- , -

Ax-h = xz-g-

1]

™M
e
X
Qd
i
A
}‘-|_
P
K

2-K

g+ =X

T-x [

crx =L O
it

Alveresgebie g pud TSI = (04

csu;o,_&‘ m:cqﬂ‘ )



